Archimede’s Principle Lab Conclusion
1.  Calculate the buoyant force of water acting on the 500 g mass:

Fbouyant = Weight of object in air – Weight of object in water

2.  Using data from Table 1, calculate the volume of water displaced by the 500 g mass. 

Volume of water displaced = Volume of water in beaker – Volume of water with 500 g mass.

3.  Calculate the weight of the water displaced.

Multiply answer from #2 (volume of water displaced) by .01 to get the weight of water displaced.

4.  Compare the weight of water displaced (#3) with the buoyant force (#1) acting on the immersed object.  Are they similar?  If they are not identical, why?  Name the different types of errors that are possible.

5.  What happened to the water level in the beaker when the 100 g mass was placed in the cup (boat)?  Was the volume immersed from the 100 g mass the same as the volume immersed from the 100 g mass in the cup?  Explain why or why not.
